TF}A 2x% 4 Bax — a? = 4] P(x) 2 Ys 5%©] x + 3a, Y™ 2| 7F
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D x2 + 2ax - 24> @ x*-a?

® 2x%2 + 3ax + d? @ 2x% -3ax-a?

<@>2x2 + ax — a?

B

2x% + 5ax — a® = P(x)(x + 3a) + 2a? 0| B2

P(x)(x + 3a) = 2x? + bax — 3a*

whebA], TFeA] P(x) & 2x2+5ax—3a% & x+3a 2 e RO|B2
P(x)=2x-a

“ (x+a)P(x) = (x+a)(2x—a)

= 2x% + ax — d>
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Folxl 27A f(1) =1, f(2) = 2°]th

f(x) = (x-1)(x-2)Q(x) + ax + b2t F2H

f)=a+b=1, f(2)=2a+b=2

.a=1,b=0

= f(x) = (x=1)(x=2)Q(x) + x
f(3)=20(3) +3




3. x9 O@4 f(0)E x+ 12 4= d, Yot 20 o]
(x* —x+3) f (1) B x + 12 e YrA1S Fota?

@no @ 6 ® 0 ® 30 ® 12

B

f(-1)=2
(¥ =x+3) f(x) = (x+1)O(x) + R
x=-194

ZR=5f(-1)=5x2=10
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=
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X3 +ax’ +bx+c=(x+2)0yx)+3
= (x+ 1)(r— 1)@z

f(=2)=3 f(1)=0 f(-1)=0

x=-2%Y, 8+4a—-2b+c=3

x=-1%%Y, -1+a-b+c=0

x=19%Y, 14+a+b+c=0
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a=3,b=-1,c=-3

. abc =9
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(I)x-1=yR2EOHx=y+10]BZ
3y+12 -+ +2=a®+by  +cy+d
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x=-1HY:0=-8a+4b-2c+d---@
x=1HY 14=d - ®
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x=-2,-1,1-2 @4 HYstH
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10. x+y+z=4, xy+yz+zx =1, xyz = 29 W, (xy+yz) (yz+2x) (zx+xy)
o] gh& FobH?

o1 @8 @ @ 2 ® 1

~&B

(xy +y2)(yz + 2x) (2x + xp) =

Xy 4+ yz +zx = 1= o] 85to] HFsHA

(xy + yz)(yz + zx) (zx + xy)
=(1-zx)(1-xy)(1-y2)

=1- (xy+yz+zx) + (¥¥yz + 0%z + xy2%) — (xyz)?
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=1-142-4-4
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o] 27
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~&B ~

(@a+b+c)? =a?+ b+ ¢+ 2(ab + bc + ca)

49 = 21 + 2(ab + bc + ca)

" ab+bc+ca=14

a’b® + b%c? + c?a® = (ab + bc + ca)? - 2abc(a+ b + )
= (14)2 -2(8 x 7)
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14. x2 9 A57} 19 % o]z ka4l f(x), g(x) o] %‘01 24% 4 5x - 3011
ATt 13 + 202 - 5x - 6°]th £(0) = 3, g(0) = -6 ],
£(2) +g(-1) 9 322
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F) + g(x) =242 + 5x—3
f(x) =Ga,g(x) = Gb (a, b= AN =22L)
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R(x) = cx + d =} 5tH
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= [ar(@) + af ) - bf@) - b (B) ~ {af(a) - af () +
bf(a) - bf (6)}]

= aib{“f (a) + af(b) - bf(a) — bf(b) — af(a) + af(b) -

by(a) + by (0)} = 2O =2 C)

. g af(b) ~bf(a)

a-b
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=w+mxﬂ2:?) aﬂi ;()
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af(a) - af(b) + bf(a) - bf(b) + af (b) - bf(a)




